IER T e TR

Ax* +Bx}*+Cx* + Dx+E =0
flf= A = X4+%X3+EX2+EX+E:O

q] = X' +BX*+C'x*+Dx+E'=0
ORUE B' B' B’ B'
MNx+ )&= xX+) ' +px+—) +q(x+—)+r=0
I ( 4), ( 4) p( 4) a( 4)
g = t'+ptP+qt+r=0 pufl
B' B' B' B Lo
A R i L e e
D = 4(p® +12r)°® — (2p® — 72pr + 27q%)?
s . ([D>0 = PUEAL or PHUREFL
G [l L ot
D=0 = ='DMHEd
D<0 =  PqEfpyEL
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i# x* + px> +gx+ 1 =0
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(i) - 1° ]% 2X=U+V+W
A 4Ax? = (U + VP + W)+ 2(uv + VW + wu)
TR Y (4x2 —(U? +v? + wz))2 = (2(uv + vw + wu))®
16x*—8x* (U2 +VZ+W)+(u? +v2 +w?)*=4(u v +v2 W +W?u? ) +8uvw(u+v+Ww)

16X *—8x% (U2 +VZ+W)+ (U +v2 +w?)*=4(u v +v2w’ +w’u®) +8uvw( 2x )

x4—%(u2+ Vit W2)X2—(UVW)X+% [u4+v4+w4— 2(u2V2+V2W2+W2u2)]=O

X + p-x*  +q-x+ r -0
1
p = _E(UZ + V2 +w)
2° PR oo 9g = —uvw
1
r=—|u’+ v +w - 2027 + V2w + wlu?)]
16
u +v> +w* =-2p
3° i T u?v? + viw? + weu? = p* — 4r
u2V2W2 — q2

FIIH = S0 AR e
4° uz,vi WL 2 +2p 2+ (p?-4r)-z-q* =0 =

a= 2p
_ﬁ b = p2_4r S ;‘\?\:(”)E#HIIUZ,VZ,WZ["%}
C:—q2

x:%(u+v+w)

or 1(u—v—w)

5° 1 i
or —(-Uu+v-w
S ( )
or %(—u—v+w)
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L4 Z ] %2 (Descartes) 3

i x* + px® +gx+r =0

LIEGE ) AP B Ry R e

2FPI AR Rk > m H R O )
SHE A (N)EE K (1~ m)

AFGATN T8 Pl Ol P

(s

[%F‘EJ]31°F%X4+ P2 +gx+ 1= (x> +kx+1)-(xX* —kx+m)=0--- (1)
m+l-k*=p---(2)
FeRERETEr: Jk-(m=D=q---(3)

l-m=r---(4)
- + pk +k® —q+ pk +k® e
E[[(Z)’(3)Ejéﬁ[ﬂ(m’|):[q p2k ) 9 2pk j(5) [‘Lx(4)
20q+pk+k‘°’x—q+pk+k‘°’_(k‘°’+pk)2—q2_r
2k 2k 4k?

= (k*)* +2p(k*)* + (p* - 4r)(k*)-q” =0
= k?=z---(6)
= k*t% 22 +2p-z> +(p°-4r)-z-q° =0 V- L
22 =L 20z 2
3°HIP](5) ¥ (6) HTik~ 1~ mE FE[pI (D) =
AP Ty S e
FFE [ E PR R i
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:[iﬂiﬁf ] ﬁ[&ﬁE'(Ferrari)%ﬁ:

i x* + px* +gx+r =0

( 2

1Iﬁj*’ipx2y + yjﬁfﬁﬂjj BT P T g 2T
[IRE R © o 2|2 | E=dif (TR iy = e

AP (N y

Ay IE T A P L

[ZP):1° X" + p®+qx+r=0 =x" =—px* —gx—r

2 2 2
REATEL X’y + yT =x*+ (X°y + yT) = —px® —gx —r + (X°y + yT)

R (x4 %)2 =(y - p)x® - gx + (yT - ()

wohls =, ML S
2
2°f A1 = D = (-a)” —4(y - p)- (- ~1) =0
WHIH y* —p-y’ —4r-y+(4pr-g°) =0
e ) Hyry,y, (Y= p)

0 . (1\=C T 2 . Y2 q i
3% (D BRI (x +§) =(y - p){x—z(y_ p)} - (2)

x2+%:im-{x g }

C2(y - p)

4° Y5y~ v _'“?Cfxﬁ':.'["b_‘ X° F _ X + li#:o
Y Yo Yo TR VY = p) X+ (5 2(y_p))

SRR D A ,:Cﬁjz_iﬁjl_ﬁx J
B SR XY + px? + gx + 1 = OpU R H A b
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